Thanksgiving Sudoku Puzzle

FILL THE EMPTY CELLS IN THE GRID WITH THE DIGITS 1 TO 9.
EACH NUMBER MAY ONLY APPEAR ONCE IN A ROW, COLUMN
OR REGION. (3 BY 3 BLOCK).

6 7|2 1|38
7 5 (1 913
2 411 8 6
6 1 [3]7]5
315 2 9
1 7 5 2 14
4 1912 8 7
214,98
1|3 719142
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Answers

FILL THE EMPTY CELLS IN THE GRID WITH THE DIGITS 1 TO 9.
EACH NUMBER MAY ONLY APPEAR ONCE IN A ROW, COLUMN
OR REGION. (3 BY 3 BLOCK).

916 | 3(5| 724|138
7185111642 ]9]3
214,198 [3[7]5]6
612418913715
315|714 (2]6|1|8]9
8111917351624
419121318567
5107161214918 |31
1 13[816[5]7194]2
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